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General Knowledge / açWýç»S pûçX / açWýçÌ[ýX pûçX
1. The Ozone layer lies in :

%L’X Ø™ö» åEõçXä$RôOç Ø™ö»Tö ?
CãLçX Ø™öÌ[ý [ýçÌ̂ Ç]‰øã_Ì[ý åEõçXØ™öåÌ[ý %çäK÷ ?

a) Troposphere b) Stratasphere c) Lonosphere d) Ionosphere
®ÏôYãØö·õÌ^ç» º®Ïôçä$RôOçãØö·õÌ^ç» å_ãXçãØö·õÌ^ç» %çÌ^XãØö·õÌ^ç»
®ÏôYåØö•õÌ̂ çÌ[ý º®ÏôçåOôçåØö•õÌ̂ çÌ[ý å_çãXçåØö•õÌ̂ çÌ[ý %çÌ̂ XåØö•õÌ̂ çÌ[ý

2. Which of the following newspapers has Guwahati edition ?
Tö_» åEõçXFX éV×XEõ [ýçTö×»» m¾çc÷ç$RôOÝ ae•õ»S %çä$K÷ ?
XÝäJôÌ[ý åEõçX éV×XEõ Y»×ÅyEõçÌ[ý mÌ̂ çc÷çOôÝ ae•õÌ[ýS %çäK÷ ?
a) The Hindu b) The Pioneer c) The Times of India d) The Sun

×V ×c÷³VÇ ×V Yçc÷OC×XÌ̂ ç» ×V $RôOçc÷O]Ëa %¾ c÷O×‰øÌ̂ ç ×V $K÷çX
×V ×c÷³VÇ ×V YçåÌ̂ ç×XÌ̂ çÌ[ý ×V Oôç+]Ëa %[ý +×‰øÌ̂ ç ×V açX

3. ‘National Youth Day’ in India is observed on 12 January to celebrate the birthday of :
Eõç» LX½ ×V¾a QöOY_ãlù 12 LçXÇ¾ç»Ý$Tö »çrÑôÝÌ̂  Ç̂¾ ×V¾a Yç×_Tö c÷Ì̂  ?
EõçÌ[ý LX½×VãX 12 LçXÇÌ̂ çÌ[ýÝåTö Ì[ýçrÑôÝÌ̂  ̂ Ç[ý ×V[ýa Yç_X EõÌ[ýç c÷Ì̂  ?
a) Swami Vivekananda b) Subhas Ch. Bose c) Kanaklata c) Rajiv Gandhi

Ø‘öç]Ý ×[ýã[ýEõçX³V aÇ\öçb $Jô³VÐ å[ýça EõXEõ_Töç »çLÝ[ý GçμùÝ
Ø‘öç]Ý ×[ýã[ýEõçX³V aÇ\öçb $Jô³VÐ å[ýça EõXEõ_Töç Ì[ýçLÝ[ý GçμùÝ

4. ‘Do Ko Mo’ is GSM mobile service of ?
‘åVç åEõç å]ç’ åa[ýç åEõçX å]ç[ýçc÷O_ åX$RôOCÌ^çEïõ åEõç+çXÝ» ?
‘åVç åEõç å]ç’ åa[ýç åEõçX å]ç[ýçc÷O_ åX$RôOCÌ^çEïõ åEõç+çXÝÌ[ý ?
a) Reliance b) Idea c) Vodafone d) Tata Mobile

×»_çãÌ̂ ‡û %çc÷O×QöÌ̂ ç å\öçQöçãZõçX $RôOç$RôOç å]ç[ýçc÷O_
×Ì[ý_çãÌ̂ ‡û %çc÷O×QöÌ̂ ç å\öçQöçãZõçX $RôOç$RôOç å]ç[ýçc÷O_

5. ‘The region ‘Telengana’ is in :
‘åTöã_eGçXç’ %‡û_ åEõçX »çLî» %Ü™ö\ÇöÛNþ ?
‘åTöã_IøçXç’ %‡û_ åEõçX Ì[ýçåLî %[ý×ØšöTö ?
a) Andhra Pradesh b) Kerala c) Tamilnadu d) Orissa

%μÐÐ YÒãV` åEõ»ç_ç Töç×]_XçQÇö QöO×»bîç
%μÐù YÒãV` åEõÌ[ýç_ç Töç×]_XçQÍÆö =×QÍöbîç
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Time/a]Ì^ : 2 hours/ H³RôOç Full Marks/ ]ÇPö X=‘ö» / å]çOô X¶‘öÌ[ý f (30+30+40)=100
INSTRUCTIONS / ×XãVÛ`ç¾_Ý / ×XãVÛ`ç[ý_Ý
1. Attempt All Questions / YÒãTöîEõä$RôOç YÒ Ầ» QöOwø» Eõ»ç / YÒãTöîEõ×Oô YÒä ẦÌ[ý =wøÌ[ý VçC
2. There are four options to every question. Choose the correct option by putting any one of a, b, c or d, in the box

YÒ×Töä$RôOç YÒ`Â» $Jôç×»$RôOç ×[ýEõ” QöOwø» ×VÌ^ç %çä$K÷* £ˆù QöOwø»ä$RôOç [ýç×$K÷ QöO×_Ì^çc÷O EõçbTö UEõç [ýçEõ$JôTö a, b, c [ýç d ×_×F[ýç*
YÒ×Tö×Oô YÒä ẦÌ[ý JôçÌ[ý×Oô ×[ýEõ” =wøÌ[ý åVCÌ̂ ç %çäK÷* a×PöEõ =wøÌ[ý×Oô å[ýäK÷ Yçã »̀ UçEõç [ýçåj a, b, c A[ýe d ×_F*
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6. Which of the following states does not share its boundary with Bangladesh :
Tö_» åEõçX »çLî» aÝ]ç [ýçe_çãV`» _GTö ae_GÂ Xc÷Ì^ ?
XÝäJôÌ[ý åVCÌ̂ ç \öçÌ[ýãTöÌ[ý åEõçX Ì[ýçLî [ýçe_çãVã Ì̀[ý aÝ]çãÌ[ýFçÌ[ý açãU ae_GÂ XÌ̂  ?
a) Assam b) Mizoram c) Nagaland d) Tripura

%a] ×]ãLç»ç] XçGçã_‰ø ×ÅyYÇ»ç
%çaç] ×]ãLçÌ[ýç] XçGçã_‰ø ×ÅyYÇÌ[ýç

7. The First war of Independence is the other name of :
YÒU] Ø‘öçWýÝXTöç aeGÐç]» %Xî Xç] c÷’_ :
Ø‘öçWýÝXTöçÌ[ý YÒU] aeGÐçã]Ì[ý %Xî Xç] :
a) Revolt 1857 b) Non co-operation Movement

1857 » ×$JôYçc÷Ý ×[ýäVÐçc÷ %ac÷ã^çG %çã³Vç_X
1857 Ì[ý ×aYçc÷Ý ×[ýäVÐçc÷ %ac÷ã^çG %çã³Vç_X

c) Khilafat Movement d) None of these
×F_çZõTö %çã³Vç_X c÷OÌ̂ çã» A$RôOçC Xc÷Ì̂
×F_çZõTö %çã³Vç_X åEõçãXç×OôC Xç

8. The minimum age to become the Vice-President of India :
\öç»Tö» QöOY-»çrÑôY×Tö c÷[ýê_ ×X=oöTö] [ýÌ^a c÷’_ :
\öçÌ[ýãTöÌ[ý =Y-Ì[ýçrÑôY×Tö YãVÌ[ý LXî XÉXîTö] [ýÌ̂ a c÷_ :
a) 25 Yrs. b) 30 Yrs c) 35 Yrs d) 36 Yrs.

25 [ý$K÷» 30 [ý$K÷» 35 [ý$K÷» 36 [ý$K÷»
25 [ýK÷Ì[ý 30 [ýK÷Ì[ý 35 [ýK÷Ì[ý 36 [ýK÷Ì[ý

9. Shahrukh Khan is associated with :
`Ÿçc÷»ÓF FçX åEõçX %çc÷O. ×Y. A_. V_» _GTö L×QÍöTö ?
Ÿ̀çc÷Ì[ý»ÓF FçX åEõçX %ç+. ×Y. A_. Vã_Ì[ý açãU L×QÍöTö ?

a) DECCAN CHARGERS b) DELHI DAREDEVILS
åQöhõçX $JôçLÛç$JôÛ ×V{Ý åQöÌ^ç» åQö×\öDJô
åQöhõçX JôçLÛçaï ×V{Ý åQöÌ̂ çÌ[ý åQö×\ö·a

c) KOLKATA KNIGHT RIDERS d) RAJASTHAN ROYALS
Eõ_EõçTöç Xçc÷O$RôO »çc÷OQöç$JôÛ »çLØšöçX »ãÌ^DJô
Eõ_EõçTöç Xç+Oô Ì[ýç+Qöçaï Ì[ýçLØšöçX Ì[ýåÌ̂ ·a

10. Brave children are awarded by the Govt. of India on :
\öç»Tö $Jô»Eõçã» ×`£ aEõ_Eõ åEõçX ×V¾aTö açc÷aÝEõTöç» YÇ»•õç» YÒVçX Eõã» ?
\öçÌ[ýTö aÌ[ýEõçÌ[ý açc÷aÝ ×`£aEõ_ãEõ XÝäJôÌ[ý åEõçX ×VãX açc÷×aEõTöç»Ì[ý YÇÌ[ý•õçÌ[ý YÒVçX EõåÌ[ý ?
a) Independence Day b) Republic Day c) Army Day d) Gandhi Jayanti

Ø‘öçWýÝXTöç ×V¾aTö YÒLçTöÜ—ö ×V¾aTö aç]×»Eõ ×V¾aTö GçμùÝ LÌ̂ Ü™öÝTö
Ø‘öçWýÝXTöç ×V[ýãa YÒLçTöÜ—ö ×V[ýãa aç]×Ì[ýEõ ×V[ýãa GçμùÝ LÌ̂ Ü™öÝãTö

11. The bird which stands as a symbol of intelligence is :
åEõçX×[ýWý $Jô»çc÷OEõ [ýÇ×ˆù]wøç» YÒTöÝEõ [ýÇ×_ åEõç¾ç c÷Ì^ :
å^ YçFÝãEõ [ýÇ×ˆùÌ[ý YÒTöÝEõ [ý_ç c÷Ì̂  :
a) Duck b) Eagle c) Chicken d) Owl

cg÷çc÷ <G_ EÇõEÇõ»ç åZgõ$Jôç
c÷ça <G_ ]ÇÌ[ýGÝ åYgJôç
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12. Find out the odd one :
×[ýaVÊ`ä$RôOç ×[$Jôç×» QöO×_C¾ç :
%×]_ ×Jôy åEõçX×Oô :

a)                      b) c) d) 

13. Rabindranath Tagore other than India composed the national Anthem for which country ?
»[ýÝ³VÐXçU PöçEÇõã» \öç»Tö» [ýç×c÷ã»C %c÷OX åEõçXFX åV`» »çrÑôÝÌ^ aeGÝTö »$JôXç Eõ×»×$K÷_ ?
Ì[ý[ýÝ³VÐXçU PöçEÇõÌ[ý \öçÌ[ýTö K÷çQÍöç %Xî åEõçX åVã Ì̀[ý Ì[ýçrÑôÝÌ̂  aeGÝTö Ì[ýJôXç EõãÌ[ý×K÷ã_X ?
a) Bhutan b) Bangladesh c) Nepal d) Myanmar

\Çö$RôOçX [ýçe_çãV` åXYç_ ]îçX]ç»
\Éö$RôOçX [ýçe_çãV` åXYç_ ]îçX]çÌ[ý

14. Which of the following Indians is not a recipient of Grammy Awards ?
Tö_» åEõçXLX \öç»TöÝÌ^c÷O GÐç]Ý[ýg$RôOç åYç¾ç Xç×$K÷_ ?
XÝäJôÌ[ý åEõçX \öçÌ[ýTöÝÌ̂  GÐîç]Ý YÇÌ[ý•õçÌ[ý GÐc÷SEõçÌ[ýÝ XX ?
a) Pt. Bishwa Mohan Bhatt b) Ustad Zakir Hussain

Y×‰øTö ×[ý`Ÿ å]çc÷X \öç$RôO QöOØ™öçV Lç×Eõ» §ä$K÷c÷OX
Y×‰øTö ×[ý Ÿ̀ å]çc÷X \öçO =Ø™öçV Lç×EõÌ[ý §äaX

b) Asha Bhousle d) A.R. Rahman
%ç`ç å\göçaã_ A. %ç». »c÷]çX
%ç`ç å\göçaËå_ A. %çÌ[ý. Ì[ýc÷]çX

15. The sticky substance that accumulates in the nose is called :
XçEõ» ×\öTö»Tö L]ç åc÷ç¾ç %çPöç^ÇNþ YVçUïEõ ×Eõ [ýÇ×_ åEõç¾ç c÷Ì^ ?
XçãEõÌ[ý ×\öTöÌ[ý L]ç c÷CÌ̂ ç %çPöçã_ç [ýØ™Çö c÷_ :
a) Mucous b) Melanin c) Serum d) Hormone

×]QöOEõç$K÷ å]_çXÝX ×$K÷»ç] c÷ã]ïçX
×]=EõçK÷ å]_çXÝX ×K÷Ì[ýç] c÷ã]ïçX

16. Which part of cricketing apparatus has a seam ?
×yÔãEõ$RôO åF_Tö ×Eõc÷» _GTö ×$Jô] `Œä$RôOç ae^ÇNþ ?
×yÔãEõOô åF_çÌ[ý ×EõãaÌ[ý açãU ‘×a]’ ̀ Œ×Oô L×QÍöTö ?
a) Ball b) Bat c) Stumps d) Bails

[ý_ [ýîç$RôO ºRôOç+ å[ýc÷ODJô
[ý_ [ýîç$RôO ºRôOç+ å[ý_ô

17. The cornea and retina are part of the ?
Eõ×SïÌ^ç %ç»Ó å»×$RôOXç åEõçX VÇ$RôOç %eG» _GTö L×QÍöTö ?
Eõ×XïÌ̂ ç %çÌ[ý åÌ[ý×OôXç ̀ Ì[ýÝãÌ[ýÌ[ý åEõçX %eãGÌ[ý a×c÷Tö L×QÍöTö ?
a) Foot b) Eye c) Mouth d) Palm

\ö×» $JôEÇõ ]ÇF c÷çTö» Tö_Ç¾ç
Yç æJôçF ]ÇF c÷çãTöÌ[ý Töç_Ç
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18. ‘Siachen Glacier’ is in ?
×$K÷Ì^ç×$JôX ×c÷][ýçc÷ Eõ’Tö ?
×aÌ̂ çäJôX ×c÷][ýçc÷ åEõçUçÌ̂  %[ý×ØšöTö :
a) Tibet b) China c) Pakistan d) Kashmir

TöÝ[[ýTö $JôÝXTö Yç×EõØšöçXTö Eõç`½Ý»Tö
TöÝ[[ýãTö JôÝãX Yç×EõØ™öçãX Eõç`½ÝãÌ[ý

19. Mount Everest was named after ?
A\öçã»rô ỀeG Eõç» Xçã]ã» Xç]çEõ»S Eõ»ç éc÷ä$K÷ ?
A\öçåÌ[ýrôô ỀeG EõçÌ[ý Xçã] Xç]çEõÌ[ýS EõÌ[ýç c÷åÌ̂ äK÷ ?
a) Sir george Everest b) Durand Everest c) Sherpa d) Sir Edmund Hillary

$K÷ç» LLÛ A\öçã»rô QÇö»ç‰ø A\öçã»rô å Ÿ̀»Yç $K÷ç» AQö]ç‰ø ×c÷_ç»Ý
açÌ[ý LLÛ A\öçãÌ[ýrô QÇöÌ[ýç‰ø A\öçãÌ[ýrô å Ÿ̀Ì[ýYç açÌ[ý AQö]ç‰ø ×c÷_çÌ[ýÝ

20. The constitutional status of Delhi is :
×V{Ý» ae×[ýWýç×XEõ %¾ØšöçX ×Eõ ?
×V{ÝÌ[ý ae×[ýWýç×XEõ %[ýØšöçX ×Eõ ?
a) Union Territory b) National Capital Territory c)   Capital d) State

åEõ³VÐÝÌ̂  `ç×aTö %‡û_ »çrÑôÝÌ^ »çLWýçXÝ %‡û_      »çLWýçXÝ YÉSïçeG »çLî
åEõ³VÐÝÌ̂  ̀ ç×aTö %‡û_ Ì[ýçrÑôÝÌ̂  Ì[ýçLWýçXÝ %‡û_      Ì[ýçLWýçXÝ YÉSïçeG Ì[ýçLî

21. The author of Harypotter Book is :
“åc÷»Ý Y$’RôOç»”» ×_FEõ åEõçX ?
“åc÷Ì[ýÝ YOôçåÌ[ ”ýÌ[ý å_FEõ åEõ ?
a) J.K. Rowling b) M.S. Rowling c) David Potter d) Nancy Patricka.

åL.ãEõ. »çQöO×_e A]. A$K÷. »çQöO×_e åQö×\öV Y$RôOç» Xîç‡ûÝ Yîç$RôO×»Eõç
åL. åEõ. Ì[ýç=×_e A]. AK÷. Ì[ýç=×_e åQö×\öQö YOôçÌ[ý Xîç³aÝ YîçOô×Ì[ýEõç

22. The numbers of teeth an adult human being has :
ALX YÒçŠ [ýÌ̂ •õ ]çXÇc÷» ×Eõ]çX$RôOç VñçTö UçãEõ ?
AEõLX YÒçŠ [ýÌ̂ •õ å_çãEõÌ[ý EõÌ̂ ×Oô VñçTö UçãEõ ?
a) 30 b) 26 c) 32 d) 35

23. In a hundred-rupee note, we find the signature of :
AFX A`$RôOEõÝÌ^ç åXç$RôOTö Eõç» c÷Ø™öçlù» UçãEõ ?
AEõ×Oô AEõ` OôçEõç åXçãOô EõçÌ[ý c÷Ø™öçlùÌ[ý UçãEõ ?
a) President b) Prime Minister

»çrÑôY×Tö YÒWýçX ]Ü—öÝ
Ì[ýçrÑôY×Tö YÒWýçX ]Ü—öÝ

c) Finance Minister d) Reserve Bank Governor
×[ýwø ]Ü—öÝ ×»Lç\öÛ å[ýeEõ» G\öSï»
×[ýwø ]Ü—öÝ ×Ì[ýLç\öÛ å[ýeãEõÌ[ý G\öSïÌ[ý
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24. Find the odd one out :
%×]_ä$RôOç [ýç×$Jô QöO×_C¾ç :
%×]_ ̀ Œ×Oô [ýç×c÷Ì[ý EõÌ[ý :
a) BOOMER b) CHLORMINT c) KITKAT d) CENTER FRESH

[ýÇ]ç» zõ»Ë×]³RôO ×Eõ$RôOEõç$RôO æ$Jô³RôOç»äZÐõ$Jô
[ýÇ]çÌ[ý æzõçÌ[ý×]³O ×EõOôEõçOô åa³OôçÌ[ýæZÐõa

25. The Army Headquarterof India is in :
\öç»Tö» aç]×»Eõ ]ÇFî Eõç ï̂îç_Ì̂  Eõ’Tö ?
\öçÌ[ýãTöÌ[ý aç]×Ì[ýEõ ]ÇFî Eõç ï̂îç_Ì̂  åEõçUçÌ̂  ?
a) New Delhi b) Calcutta c) Pune d) Patna

XTÇöX ×V{ÝTö Eõ_EõçTöçTö YÇãXTö Yç$RôOXçTö
XTÇöX ×V{ÝãTö Eõ_EõçTöçãTö YÇãXãTö YçOôXçãTö

26. Which is not a part of Digestive system :
Tö_» åEõçXä$RôOç %eG Yç$JôX YÒ×yÔÌ^ç» _GTö L×QÍöTö Xc÷Ì^ ?
XÝäJôÌ[ý åEõçX %eG YçJôX YÒ×yÔÌ̂ çÌ[ý açãU L×QÍöTö XÌ̂  ?
a) Liver b) Mouth c) Stomach d) Heart

^EÊõTö ]ÇF YçEõØšö_Ý c÷ÖV×Y‰ø
^EÊõTö ]ÇF YçEõØšö_Ý c÷ÖV×Y‰ø

27. The highest civilian Award of India is :
\öç»Tö» aã[ýïç¬Jô %aç]×»Eõ YÇ»•õç» c÷’_ :
\öçÌ[ýãTöÌ[ý aã[[ýïç¬Jô %aç]×Ì[ýEõ YÇÌ[ý•õçÌ[ý c÷_ :
a) Padma Bushan b) Bharat Ratna c) Param Vir Chakra d) Gyanpeeth

Y²¿\ÉöbS \öç»Tö »±óö Y»][ýÝ» $JôyÔ pûçXYÝPö
Y²¿\ÉöbS \öçÌ[ýTö Ì[ý±óö YÌ[ý][ýÝÌ[ý JôyÔ pûçXYÝPö

28. Vancouver, 2010 is famous for :
\öçeEÇõ\öç» 2010 ×Eõc÷» Eõç»ãS ×[ýFîçTö ?
\öîçXEÇõ[ýçÌ[ý 2010 ×EõãaÌ[ý LXî ×[ýFîçTö ?
a) Beauty Pageant Show b) Winter Olympics

åaì³V ï̂î YÒ×Töã^ç×GTöç `ÝTöEõç_ÝX %×_×+Eõ
åaì³V ï̂î YÒ×Töã^ç×GTöç `ÝTöEõç_ÝX %×_×¶YEõ

c) Common wealth Games d) Meet on Global Warming
Eõ]Xã¾_U yÔÝQÍöç ×[ý`Ÿ åGç_EõÝÌ^ QöObÕTöç a×X½_X
Eõ]XCãÌ̂ _ËU åG]a ×[ý Ÿ̀ åGç_EõÝÌ̂  =bÕTöç a×X½_X
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29. Complete the series :
£ˆù QöOwø» ×[ý$Jôç×» QöO×_C¾ç :
£ˆù K÷×[ý×Oô [ýç×c÷Ì[ý EõÌ[ý :

                                    ?

a)                   b)                                  c)                    d)         

30. ‘FAZER’ Bike is a Product of :
‘FAZER’ ]$RôO» $K÷çc÷OãEõ_ Eõç» ¥ç»ç QöOdYç×VTö ?
‘FAZER’ ]O Ì[ý aç+åEõ_ åEõçX åEõç¶YçXÝÌ[ý ?

a) Hero Honda b) Bajaj c) Yamaha d) TVS
×c÷ã»ç c÷‰øç [ýçLçL Ì̂ ç]çc÷ç ×$RôO.×\ö.A$K÷
×c÷ãÌ[ýç c÷‰øç [ýçLçL +Ì̂ ç]çc÷ç ×O .×\ö. Aa

General Science / açWýç»S ×[ýpûçX / açWýçÌ[ýX ×[ýpûçX
31. Deforestation is a cause for :

×X[ýïSçXÝEõ»S» Eõç»S c÷_ :
×X[ýïXÝEõÌ[ýåXÌ[ý EõçÌ[ýX c÷_ :
a) Soil erosion b) Global warming c) Droughts d) All the above

\Éö×] lùÌ̂ åGç_EõÝÌ^ QöObÕTöç F»çe %ç$RôOçc÷OãEõc÷O$RôOç
\Éö×]lùÌ̂ åGç_EõÝÌ̂  =bÕTöç FÌ[ýç a[ý EõÌ̂ Oôç

32. In a bomb what kind of energy is changes to heat, light and sound energy ?
A$RôOç å[ýç]çTö åEõçXä$RôOç `×Nþ TöçY, åYçc÷» %ç»Ó `Œ `×Nþê_ »ÖYçÜ™ö» c÷Ì^ ?
AEõOôç å[ýç]çÌ̂  ×Eõ WýÌ[ýåXÌ[ý `×Nþ TöçY, %çã_ç %çÌ[ý `Œ `×NþãTö Ì[ý»ÖYçÜ™ö×Ì[ýTö c÷Ì̂  ?
a) Electricalö b) Chemical c) Thermal d) Mechanical

é[ýVÇî×TöEõ »çaçÌ̂ ×XEõ TöçY ^ç×Ü—öEõ
é[ýVÇî×TöEõ Ì[ýçaçÌ^×XEõ TöçY ^ç×Ü—öEõ

33. What can a force do ?
[ýã_ ×Eõ Eõ×»[ý Yçã» ?
[ý_ ×Eõ EõÌ[ýåTö YçãÌ[ý ?
a) Change the direction b) Change the velocity c) Change the acceleration  d)  All the above

×V`» Y×»¾wïøX å[ýG» Y×»¾wïøX ±¼ö»S» Y×»¾wïøX    %ç$RôOçc÷OãEõc÷O$RôOç
×VEõ Y×Ì[ý[ýwïøX å[ýãGÌ[ý Y×Ì[ý[ýwïøX ±¼öÌ[ýåXÌ[ý Y×Ì[ý[ýwïøX    a[ý EõÌ̂ Oôç

34. Common salt can be obtained from sea water by
açG»» Y»ç ×X]F åEõçXä$RôOç Yˆù×Töã» Yç[ý Yç×» ?
açGåÌ[ýÌ[ý L_ åUãEõ _[ýX ×Eõ Yˆù×TöãTö YçCÌ̂ ç ̂ çÌ̂  ?
a) Sedimentation b) Evaporation c) Decantation d) Filtratiom

%¾ãlùYX [ýç¹YÝ\ö¾S %ç`Òç¾S Y×»Øƒöç¾S
%[ýãlùYX [ýç¹YÝ\ö[ýX %ç Ò̀ç[ýX Y×Ì[ýØƒöç[ýX
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35. The extra food in plants is stored in the form of ................
QöO×àöV» %×Tö×»Nþ FçVî×F×X ............. ×c÷$JôçãY L]ç c÷Ì^*
=×àöãVÌ[ý %×Tö×Ì[ýNþ FçVî ×Eõ ×c÷açã[ý L]ç c÷Ì̂  ?
a) Glucose b) Salt c) Spices d) Starch

GÀÇEõ’L ×X]F ]$K÷_ç `Eïõ»ç
GÀÇãEõçL _[ýX ]`_ç `EïõÌ[ýç

36. A simple machine reduces :
A$RôOç a»_ ^Ü—öc÷O ×Eõ âÑ÷ça Eõã» :
AEõOôç aÌ[ý_ ̂ Ü—ö XÝäJôÌ[ý åEõçX×Oô Eõ]çÌ̂  :
a) Comfort b) load c) effort d) All the above

aÇ×[ýWýç \öç» aç]Uï %ç$RôOçc÷OãEõc÷O$RôOç
aÇ×[ýWýç \öçÌ[ý aç]Uï a[ý EõÌ̂ Oôç

37. The woolen clothes stop the :
>S» EõçãYçã» å»çWý Eõã» :
=å_Ì[ý EõçYQÍö åÌ[ýçWý EõåÌ[ý :
a) cold from entering our body b) heat from escaping our body

%ç]ç» `»Ý»Tö Pöç‰øç _GçTö [ýçWýç ×VãÌ^ %ç]ç» `»Ý»» QöOwøçY  âÑ÷çaTö [ýçWýç ×VãÌ^
Pöç‰øç %ç]çãVÌ[ý Ì̀[ýÝåÌ[ý YÒã[ý` EõÌ[ýåTö Ì̀[ýÝåÌ[ýÌ[ý TöçY [ýç+ãÌ[ý å^ãTö [ýçWýç åVÌ̂

c) cold from escaping our body d) heat from entering our body
%ç]ç» `»Ý»» Pöç‰øç ×XGï]XTö [ýçWýç ×VãÌ^ %ç]ç» `»Ý»Tö TöçY _GçTö [ýçWýç ×VãÌ^
Pöç‰øç %ç]çãVÌ[ý Ì̀[ýÝÌ[ý åUãEõ [ýç+ãÌ[ý å^ãTö TöçY %ç]çãVÌ[ý Ì̀[ýÝåÌ[ý YÒã[ý` EõÌ[ýåTö

38. The eggs of frogs are found in :
å\öEÇõ_Ý» EõSÝ .............. åYç¾ç ̂ çÌ^ :
[ýîçãIøÌ[ý ×Qö] YçCÌ̂ ç ^çÌ̂  :
a) soil b) food c) water d) air

]ç×$RôOTö FçVîTö YçXÝTö [ýçÌ̂ ÇTö
]ç×OôåTö FçVîãTö Lã_ [ýçÌ̂ ÇãTö

39. Which part of potato contains food ?
%ç_Ç» åEõçXä$RôOç %e`Tö FçVî UçãEõ ?
%ç_ÇÌ[ý åEõçX %eå` FçVî UçãEõ ?
a) root b) stem c) leaf d) fruit

×`Yç Eõç‰ YçTö Zõ_
]É_ Eõç‰ø YçTöç Zõ_
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40. Which of the following are natural fibres ?
Tö_» åEõçX åEõc÷O$RôOç YÒçEÊõ×TöEõ %çgc÷ ?
XÝãJô»Ì[ý åEõçX×Oô YÒçEÊõ×TöEõ aÉTöç ?
cotton, Wool, Nylon, Silk, terylene, Jute, Teflon, Polyester
EõYçc÷, >S, Xçc÷O_X, å»$Jô], æ$RôO×»×_X, ]»çYç$RôO, æ$RôOZõ_X, Y×_rôç»
TÇö_ç,=_, Xç+_X, ×a’õ, åOô×Ì[ý×_X, YçOô, åOôZõ_X, Y×_rôçÌ[ý
a) cotton, Wool, Terylene, Teflon b) cotton, Wool, Silk, Jute

EõYçc÷, >S, æ$RôO×»×_X, æ$RôOZõ_X EõYçc÷, >S, å»$Jô], ]»çYç$RôO
TÇö_ç,=_, åOô×Ì[ý×_X, åOôZõ_X TÇö_ç,=_, ×a’õ, YçOô

c) Silk, Jute, Polyester, Nylon d) Nylon, Terylene, Teflon, Polyester
å»$Jô], ]»çYç$RôO, Y×_rôç», Xçc÷O_X Xçc÷O_X, æ$RôO×»×_X, æ$RôOZõ_X, Y×_rôç»
×a’õ, YçOô, Y×_rôçÌ[ý, Xç+_X Xç+_X, åOô×Ì[ý×_X, åOôZõ_X, Y×_rôçÌ[ý

41. Which of the following is common in Diamond, coal and pencil ?
Tö_» åEõçXä$RôOç c÷Ý»ç, EõÌ^_ç %ç»Ó åY×‡û_» QöOê]c÷TöÝÌ^ç QöOYçVçX ?
XÝäJôÌ[ý åEõçX×Oô c÷ÝÌ[ýç, EõÌ̂ _ç %çÌ[ý åY×³aã_ YçCÌ̂ ç ̂ çÌ̂  ?
a) Carbon b) Steel c) Phosphorus d) Glass

Eõç[ýïX TöÝFç Zõ$K÷Zõ’»ç$K÷ Eõç$Jô
Eõç[ýïX ºOôÝ_ ZõaZõÌ[ýçaË EgõçJô

42. Ploughing serves which of the following purposes ?
]ç×$RôO $Jôãc÷ç¾ç Eõçã] ×Eõ QöOãV`î YÇ»S Eõã» ?
c÷ç_Jôçãb XÝã»JôÌ[ý åEõçX×Oô EõçL a¶Y~ EõåÌ[ý ?
a) To allow more air inside the soil b) To make plantaion easy

]ç×$RôO» G\öÝ»ê_ %×WýEõ [ýçÌ^Ç YÒã¾`Tö ac÷çÌ^ Eõã»* [ýÊlù å»çYS QöOLÇ Eõ»ç
]ç×OôÌ[ý ×XäJô %×WýEõ c÷çCÌ̂ ç YÒã[ý` EõÌ[ýçåTö ac÷çÌ̂  EõåÌ[ý [ýÊlù åÌ[ýçYX ac÷L c÷Ì̂

c) To make the soil absorb water faster and better d)    All the above
]ç×$RôOEõ åaçXEõçã_ %ç»Ó \öç_êEõ YçXÝ £×c÷ å_ç¾çTö ac÷çÌ^ Eõã»*       %ç$RôOçc÷OãEõçc÷O$RôOç
]ç×OôåEõ L_ TöçQÍöçTöç×QÍö C \öç_\öçã[ý £ãb ×XãTö ac÷çÌ̂  EõåÌ[ý       a[ý EõÌ̂ Oôç

43. Which of the following will be the lightest ?
Tö_» åEõçXä$RôOç %ç$RôOçc÷OTöêEõ YçTö_ ?
XÝäJôÌ[ý åEõçX×Oô a[ýJôç+ãTö c÷ç_Eõç ?
a) Water      b)  Petrol c) Salt solution d) All of them have the same weight

YçXÝ             åY®Ïô_            ×X]F» VÐ¾ %ç$RôOçc÷OãEõc÷O$RôOç» CLX a]çX
L_             åY®Ïô_ _[ýãXÌ[ý VÐç[ýX a[ý EõÌ̂ Oôç

44. Which of the following statements is wrong concerning mammals ?
Ø™öSîYçÌ̂ Ý YÒçSÝ» ålùyTö Tö_» åEõçXä$RôOç QöO×Nþ ×]$K÷ç ?
Ø™öXîYçÌ̂ Ý YÒçXÝÌ[ý ålùäy åEõçX =×Nþ×Oô ×]Uîç :
a) All of them live on the land b) None of them can live in water

aEõã_ç Ø™öXîYçÌ^Ý YÒçSÝ ]ç×$RôOTö [ýça Eõã» åEõçãXç Ø™öSîYçÌ^Ý YÒçSÝ YçXÝTö XçUçãEõ
a[ý Ø™öXîYçÌ̂ Ý YÒçXÝ ]ç×OôåTö [ýça EõåÌ[ý åEõçãXç Ø™öXîYçÌ̂ Ý YÒçXÝ Lã_ UçãEõ Xç

c) None of them can fly in air d) All of these
åEõçãXç Ø™öSîYçÌ^Ý YÒçSÝ QöO×»[ý åXç¾çã» %ç$RôOçc÷OãEõc÷O$RôOç
åEõçãXç Ø™öXîYçÌ̂ Ý YÒçXÝ =QÍöãTö YçãÌ[ýXç a[ý EõÌ̂ Oôç
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45. A satellite moves around a planet in an orbit. Which force helps it to move ?
QöOY GÐc A$RôOçc÷O ×X×VÛrô EõlùYUTö GÐc÷» $Jôç×»CZõçã_ HÉã»* Ac÷O G×TöTö åEõçXä$RôOç [ýã_ ac÷çÌ^ Eõã» ?
=YGÐc÷ TöçÌ[ý ×X×VÛrô EõlùYãU GÐãc÷Ì[ý Jôç×Ì[ý×VãEõ åHçãÌ[ý* XÝäJôÌ[ý åEõçX ̀ ×Nþ TöçãEõ açc÷çÌ̂ î EõåÌ[ý ?
a) Electrical force b) Gravitation force c) Magnetic force d) Nuclear force

é[ýVÇî×TöEõ [ý_ ]çWýîçEõbï×SEõ [ý_ $JÇô=‘öEõÝÌ̂  [ý_ %çX×¾Eõ [ý_
é[ýVÇî×TöEõ [ý_ ]çWýîçEõbï×SEõ [ý_ $JÇô=‘öEõÝÌ̂  [ý_ %çX×[ýEõ [ý_

46. Which of the following do not affect evaporation ?
Tö_» åEõçXä$RôOçã¾ [ýç¹YÝEõ»STö YÒ\öç¾ åXãY_çÌ^ ?
XÝäJôÌ[ý åEõçX×Oô [ýç¸YÝEõÌ[ýãX YÒ\öç[ý åZõã_Xç ?
a) Surface area b) Volume c) Temperature d) Wind

YÊœöEõç×_ %çÌ^TöX TöçY]çyç [ýTöçc÷
YÊœöEõç×_ %çÌ̂ TöX TöçY]çyç [ýçTöça

47. The inter-molecular space is highest in :
%çÜ™öf%çX×¾Eõ VÉ»±¼ö %ç$RôOçc÷OTöêEõ å[ý×$K÷ :
%çÜ™öf%çX×[ýEõ VÉÌ[ý±¼ö a[ýJôç+äTö å[ý`Ý :
a) solids b) Liquids c) Gases d) Same for all

Eõ×PöX YVçUïTö Tö»_Tö åG$K÷Tö aEõã_çãTö AãEõ
Eõ×PöX YVçãUï TöÌ[ý_ YVçãUï Gîçãa a[ýmã_çãTö

48. The instrument shown is used to measure ..............
×$JôyTö ×VÌ^ç aLÇ×_ä$RôOç ................ LÇ×F[ýê_ [ýî¾c÷ç» Eõ»ç c÷Ì^*
Yçã Ì̀[ý ×Jôy×Oô ×Eõ ]çYãTö [ýî[ýc÷ÖTö c÷Ì̂  :
a) mass b) weight c) volume d) height

\ö» CLX %çÌ̂ TöX QöO¬JôTöç
\öÌ[ý CLX %çÌ̂ TöX =¬JôTöç

49. ..................... is called the kitchen of the plant.
QöO×àöV» »çμù×X`ç_ c÷’_ ..........................
=×àöãVÌ[ý Ì[ýç~çHÌ[ý c÷_ :
a) Root b) Flower c) Stem d) Leaf

×`Yç ZÇõ_ Eõç‰ø YçTö
]É_ ZÇõ_ Eõç‰ø YçTöç

50. Which part of the food is most helpful in the process of digestion ?
FçVî» Yç$JôX YÒ×yÔÌ^çTö ac÷çÌ^ Eõ»ç %×Tö V»Eõç»Ý QöOYçVçXä$RôOç ×Eõ ?
XÝäJôÌ[ý åEõçX×Oô YçJôX YÒ×yÔÌ̂ çÌ̂  a[ýJôç+ãTö VÌ[ýEõçÌ[ýÝ :
a) Vitamins b) Proteins c) Fats d) Fibres

×\ö$RôOç×]X YÒ×$RôOX $Jô[ýÝÛ %çgc÷
×\ö$RôOç×]X YÒ×$RôOX $Jô×[ýï aÉTöç
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51. Bees give us :
å]ì-]ç×F» Y»ç %ç×] YçCg f
å]ì]ç×K åUãEõ Yç+ :
i) Honey ii) Silk iii) Wax iv) Lac

å]ì å»$Jô]ö ]] å_Eõ
]WýÇ ×a’õ ]] _çlùç

a) i and %ç»Ó ii b) ii  and %ç»Ó iii c) ii and %ç»Ó iV d) i and %ç»Ó iii
i %ç»Ó ii ii %ç»Ó iii ii  %ç»Ó iV i %ç»Ó iii
i %çÌ[ý ii ii %çÌ[ý iii ii  %çÌ[ý iV i %çÌ[ý iii

52. The main product of photo synthesis is :
açã_çEõ aeä À̀bSTö QöOdY~ åc÷ç¾ç m»Ó±¼öYÉSï VÐ[ýî c÷’_ :
açã_çEõ aeä À̀bãX =dY~ c÷CÌ̂ ç a[ýJôç+ãTö mÌ[ý»Ó±¼öYÉSï aç]GÐÝ :
a) Oxygen b) Water c) Sunlight d) Starch

%×jãLX YçXÝ aÉ̂ ïî» åYçc÷» å Ÿ̀Töaç»
%×jãLX L_ aÉã ï̂Ì[ý %çã_ç å Ÿ̀TöaçÌ[ý

53. Pancreatic Juice digests :
%GÂç Ì̀̂  »ãa Yç$JôX Eõã» :
%GÂç Ì̀̂  Ì[ýåa c÷L] EõÌ[ýçÌ̂  :
a) Proteins b) Starches c) fats d) All the above

YÒ×$RôOX å`ŸTöaç» $Jô[ýÝÛ %ç$RôOçc÷OãEõc÷O$RôOç
åYÒç×OôX å Ÿ̀TöaçÌ[ý Jô×[ýï a[ý EõÌ̂ Oôç

54. Vinegar is widely used as a :
×$Jô»Eõç [ý§_ [ýçã[ý [ýî¾c÷ç» c÷Ì^ :
×\ö×XGçÌ[ý %Töîç×WýEõ ]çyçÌ̂  [ýî[ýc÷ÖTö c÷Ì̂  :
a) Pesticide b) Poison c) Medicine d) Preservative

EõÝ$RôOXç`Eõ ×c÷$JôçãY ×[ýb ×c÷$JôçãY CBbWý ×c÷$JôçãY ae»lùSEõç»Ý ×c÷$JôçãY
EõÝOôXç`Eõ ×c÷açã[ý ×[ýb ×c÷açã[ý DbWý ×c÷açã[ý aeÌ[ýlùXEõçÌ[ýÝ ×c÷açã[ý

55. Egg yolk is a rice source of Vitamin(s)
EõSÝ» EÇõ§]Tö UEõç ×\ö$RôOç×]X c÷_ :
×Qöã]Ì[ý EÇõaÇã] UçEõç ×\öOôç×]X c÷_ :
a) A                        b)    D           c)     B d) All the above %ç$RôOçc÷OãEõc÷O$RôOç / a[ý EõÌ̂ Oôç

56. For plant growth the soil should have a proper mixture of :
QöO×àöV» `ÒÝ [ýÊ×ˆù» [ýçã[ý ]ç$×$RôO» QöOY^ÇNþ ae×] Ò̀Sä$RôOç c÷_ :
=×àöãVÌ[ý [ýÊ×ˆùÌ[ý LXî ]ç×OôÌ[ý =Y Ç̂Nþ ae×] Ò̀X c÷_ :
a) loam & humus b) Sand, clay & humus c) Humus, pebbles & cement    d) Both ‘a’ & ‘b’

å_ç] %ç»Ó ×c÷QöO]ç$K÷ [ýç×_, å[ýçEõç %ç»Ó ×c÷QöO]ç$K÷ ×c÷QöO]ç$K÷, ×]×c÷ YçU» %ç»Ó ×$Jôã]³RôO ‘a’ %ç»Ó ‘b’ QöO\öãÌ̂
açÌ[ý ]ç×Oô C ×c÷=]çK÷ [ýç×_, EõçVç ]ç×Oô %çÌ[ý ×c÷=]çK÷, ×c÷=]çK÷, XÇ×QÍö %çÌ[ý ×aã]³Oô ‘a’ %çÌ[ý ‘b’ =\öãÌ̂

57. Which of the following is a hill-tree ?
Tö_» åEõçX×[ýWý Yçc÷ç»Tö UEõç G$K÷ ?
XÝäJôÌ[ý åEõçX×Oô Yçc÷çäQÍö UçEõç GçK÷ :

a) b) c) d)
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58. The occurence of dew is mainly because of :
×XÌ̂ » aÊ×rô åc÷ç¾ç» ]ÉFî Eõç»S éc÷ä$K÷ -
×`× Ì̀[ý aÊ×rô c÷CÌ̂ çÌ[ý ]ÇFî EõçÌ[ýX :
a) Evaporation b) Condensation c) Sedimentation d) Decantation

[ýç¹YÝÌ̂ Eõ»S HSÝ\ö¾X %¾ãlùYX %ç`Òç¾S
[ýç¹YÝÌ̂ EõÌ[ýX HSÝ\ö[ýX %[ýãlùYX %ç Ò̀ç[ýX

59. In a polluted pond the amount of dissolved oxygen is ............... to  than that in a clean pond
A$RôOç YÒVÉ×bTö YÇFÇ»ÝTö UEõç VÐ¾Ý\ÉöTö %×jãLX» Y×»]çS Y×»•õç» YÇFÇ»Ý » / TöêEõ ...........
AEõOôç YÒVÉ×bTö YÇEÇõãÌ[ý %×jãLãXÌ[ý Y×Ì[ý]çX Y×Ì[ý•õçÌ[ý YÇEÇõÌ[ý AÌ[ý / åUãEõ :
a) More b) Equal c) Less d) None of these

å[ý$×$K÷ a]çX Eõ] A$RôOçC Xc÷Ì̂
å[ý`Ý a]çX Eõ] AEõ×OôC Xç

60. What does the saliva, present in our mouth contain ?
%ç]ç» ]ÇFTö UEõç _ç_×$RôOTö ×Eõ UçãEõ ?
]ÇãFÌ[ý _ç_çÌ̂  UçãEõ :
a) Enzymes b) Vitamins c) Acids d) Alkalis

QöOdåa$JôEõ ×\ö$RôOç×]X A×$JôQö lùç»Eõ
AXLç+] ×\öOôç×]X A×aQö lùçÌ[ýEõ

General Mathematics / açWýç»S G×STö / açWýçÌ[ýX G×STö

61. How many B’s are there in 3 ?
3 Tö ×Eõ]çXRôOç B %çä$K÷ ?
3 A EõTöRôOç B %çä$K÷ ?
a) 6 b) 9 c) 12 d) 15

62. G of a rupee is ............... paise.
A$RôOEõç» G %e`Tö .................. Yc÷O$Jôç
AEõ $RôOçEõç Ì[ý G %e`ö .................. YÌ̂ aç
a) 20ö b) 10  c) 40 d) 50

63. 5 + 5.5 + 0.55 =
a) 10.55 b) 11.05 c) 10.05 d) 11.50

64. The number of line segments in  are

 Tö UEõç å»Fç F‰ø» aeFîç éc÷ä$K÷ :

 K÷×[ý×OôåTö åÌ[ýFç Fã‰øÌ[ý aeFîç c÷_ :

a) 12 b) 16 c) 18        d)  None of these A$RôOçC Xc÷Ì̂  / AEõ×OôC Xç
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65. Is ∇ ∇ ∇ ∇ ∇ stands for 40, then ∇ ∇ will stand for :
^×V ∇ ∇ ∇ ∇ ∇ » ]çX 40  c÷Ì^ åTöãÜ™ö, ∇ ∇ » ]çX c÷[ý :
^×V ∇ ∇ ∇ ∇ ∇ Ì[ý ]çX  40  c÷Ì^ Töã[ýö, ∇ ∇ Ì[ý ]çX c÷å[ý :
a) 16 b) 14 c) 32 d) 40

66. In the numbers from 1 to 100 the digit ‘0’ appears :
1 » Y»ç 100 é_ aeFîçã[ýç»Tö UEõç ‘0’ » aeFîç :
1 åUãEõ 100 Y^ïîÜ™ö aeFîçmã_çãTö ‘0’ EõTö[ýçÌ[ý YçCÌ̂ ç ̂ çÌ̂  :
a) 9 b) 10 c) 11 d) 12

67. On dividing 1A by B, we get :
1A Eõ B å» ×[ý\öçLî Eõ×»ã_, %ç×] Yç] :
1A åEõ B ¥çÌ[ýç \öçG EõÌ[ýã_, \öçGZõ_ c÷ã[ý :
a) 4 A b) 9

3
c) 7

2
      d)  None of these A$RôOçC Xc÷Ì̂  / AEõ×OôC Xç

68.  Which of the following represents the sum of the shaded parts ?
Tö_» åEõçXä$RôOçã¾ $Kg÷çã» %ç[ýÊTö %e`» å^çGZõ_ [ýÇLçÌ^ ?
K÷çÌ̂ çÌ̂  %ç[ýÊTö %eã Ì̀[ý å^çGZõ_ c÷_ :

 + 

a) 10
9

b) 7
9

c) 2
3

        d)  None of these A$RôOçC Xc÷Ì^ / AEõ×OôC Xç

69. Sum of prime numbers from 50 to 70 is :
50 » Y»ç 70 é_ UEõç å]ì×_Eõ aeFîçã[ýç»» å^çGZõ_$ :
50 åUãEõ 70 Y ï̂Ü™ö UçEõç å]ì×_Eõ aeFîçm×_Ì[ý å^çGZõ_ :
a) 240 b) 173 c) 291         d)  None of these A$RôOçC Xc÷Ì̂  / AEõ×OôC Xç

70. Express 0.25 as a fraction in its lowest terms :
0.25 Eõ \öGÂçe`» _×Hœö »ÖãY YÒEõç` Eõ»ç :
0.25 åEõ \öGÂçeã Ì̀[ý _×HrôÌ[ý»ÖãY YÒEõç` EõÌ[ý :

a) A b) D c) 25
100

         d)  None of these A$RôOçC Xc÷Ì̂  / AEõ×OôC Xç

71. A train travels a distance 432 Km. in 60 minutes, how many kilometers will it cover in 8 hours ?
AFX å»_GçQÍöÝãÌ^ 60 ×]×X$RôOTö 432 ×Eõ.×]. VÉ»±¼ö %×TöyÔ] Eõ×»ã_, 8 H³RôOçTö ×Eõ]çX VÉ»±¼ö %×TöyÔ] Eõ×»[ý ?
AEõ×Oô åÌ[ý_GçQÍöÝ 60 ×]×XãOô 432 ×Eõ.×]. %×TöyÔ] EõÌ[ýã_, H³OôçÌ̂  EõTöVÉÌ[ý å^ãTö YçÌ[ýã[ý ?
a) 2456 km (×Eõ×].) b) 4256 km (×Eõ×].) c) 3456 km (×Eõ×].) d) 3458 km (×Eõ×].)

72. 2 hrs after midnight is ....
]çL »ç×Tö» 2 H³RôOç Yç$K÷Tö ..........
]WýîÌ[ýç×ÅyÌ[ý 2 H³Oôç YÌ[ý a]Ì̂  c÷ã[ý
a) 10 p.m. b) 2 p.m. c) 2 a.m. d) 10 a.m.
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73. 7
10  + 9

100
 + 11

1000
 = .............

a) 0.801             b)      801
1000

             c)    799
100

d) either ‘a’ or ‘b’ ( ‘a’ %U[ýç ‘b’)

74. If 0  39 = 0 is true, then  should be replaced by
^×V 0  39 = 0 aTöî c÷Ì̂ , åTöãÜ™ö  Eõ %Yaç»S Eõ×»[ý Yç×» :
^×V 0  39 = 0 aTöî c÷Ì^, Töçc÷ã_  = ?
a) + or [ýç - b) x or [ýç ÷ c) x or [ýç + d) ÷ or [ýç -

75. A line extended endlessly on one side is a
A$RôOç ×V`Tö [ý×ˆùÛTö %XÜ™ö å»FçEõ åEõç¾ç c÷Ì^ :
AEõ+×VãEõ [ý×ˆùÛTö %XÜ™ö åÌ[ýFçãEõ [ý_ç c÷Ì̂  :
a) ray (»×`½ / Ì[ý×`½) b) line (å»Fç / åÌ[ýFç) c) line segment (å»FçF‰ø/åÌ[ýFçF‰ø)    d) Plane (a]Tö_)

76. Thrice a certain number is 12. Nine times that number will be
A$RôOç aeFîç» ×Tö×XmS 12, aeFîçä$RôOç» XmS c÷[ý :
AEõOôç aeFîçÌ[ý ×TöXmS ̂ ×V 12 c÷Ì̂ , Töçc÷ã_ aeFîçOôçÌ[ý XÌ̂ mX c÷ã[ý :
a) 12 x 9 b) 12 ÷ 9 c) 12 x 3 d) 12 + 9 -3

77. Which of the following does not carry any meaning ?
Tö_» åEõçXä$RôOç ×X»UïEõ ?
XÝäJôÌ[ý åEõçX×Oô ×XÌ[ýUïEõ ?
a) VX                    b)     IXIV        c)     XIIV d) All the above (%ç$RôOçc÷OãEõc÷O$RôOç / a[ý EõÌ̂ $RôOç)

78. In a triangle one angle is 650 and another angle is 350. What is the third angle ?
A$RôOç ×Åy\ÉöL» A$RôOç åEõçX 650 %ç»Ó %çXä$RôOç åEõçX 350 c÷ã_ TÊöTöÝÌ^ åEõçXä$RôOç ×Eõ]çX ?
×Åy\ÇöãLÌ[ý YÒU] VÇ+×Oô åEõçX ̂ ×V ̂ UçyÔã] 650 %çÌ[ý 350 c÷Ì̂ , Töçc÷ã_ TÊöTöÝÌ̂  åEõçX×Oô EõTö ?
a) 800 b) 900 c) 1000 d) 450

79. 4 tenths 2 hundreths in decimal form is expresed as
4 V`]çe` 2 `Töçe`Eõ V`×]EõTö AãXVã» YÒEõç` Eõ»ç c÷Ì^ :
4 V`]çe` 2 ̀ Töçe` V`×]ãEõ A+\öçã[ý YÒEõç` EõÌ[ýç c÷Ì̂  :
a) 0.24 b) 42.0 c) 0.42 d) 420

80. Which number has the place value always equal to its own value ?
åEõçXä$RôOç aeFîç» ØšöçXÝÌ̂  ]çX aVçÌ̂  åac÷O aeFîçä$RôOç ?
åEõçX aeFîçÌ[ý ØšöçXÝÌ̂  ]çX a[ýïVç åa+ aeFîç×Oô ?
a) 1 b) 2 c) 3          d)  None of these A$RôOçC Xc÷Ì̂  / AEõ×OôC Xç

81. What is the value of 19 minus negative 21 ?
19 ×[ýãÌ̂ çG @Sç±ÁEõ 21 » ]çX ×Eõ]çX ?
19 ×[ýãÌ̂ çG @Sç±ÁEõ 21 AÌ[ý ]çX EõTö ?ô
a) 2 b) 40 c) 21 d) 38
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82. Which is larger 0.8 or 6
7

 ?

0.8 %ç»Ó 6
7

 » åEõçXä$RôOç QöçIø» ?

åEõçX×O  [ýQÍö 0.8 Xç 6
7

 ?

a) 6
7

        b)   0.8           c) can not say  (Eõ[ý åXç¾ç×» / Lç×XXç)    d)  None of these A$RôOçC Xc÷Ì^ / AEõ×OôC Xç

83. How many corners does the shape given below :
Tö_Tö ×VÌ^ç $K÷×[ýä$RôOçTö ×Eõ]çX$RôOç $JÇôEõ %çä$K÷ ?
XÝäJôÌ[ý K÷×[ýãTö EõÌ̂ Oôç åEõì×XEõ ×[ý³VÇ %çäK÷ ?

a) 6 b) 10 c) 12 d) 13

84. What is the reciprocal of 0.4 ?
0.4 » %ãXîç~Eõ ×Eõ ?
0.4 AÌ[ý Y×TöyÔ] ×Eõ ?

a) R b) G c) 2A d) 4
10

85. The perimeter of the given figure is :
YÒVwø ×$Jôyä$RôOç» Y×»aÝ]ç c÷[ý :
Yçã Ì̀[ý ×Jôy×OôÌ[ý Y×Ì[ýaÝ]ç c÷_ :

a) 18 cm.(æ$K÷.×]./åa.×].) b)  23 cm.(æ$K÷.×]./åa.×].) c)  12 cm.cm.(æ$K÷.×]./åa.×].) d)  None of these A$RôOçC Xc÷Ì̂ /AEõ×OôC Xç

86. Population of Guwahati doubles every year. In 2000, the population was 10,500. What will be the population in the
year 2004 ?
m¾çc÷ç$RôOÝ» LXaeFîç YÒ×Tö [ý$K÷ã» VÇmX c÷Ì̂ * 2000 $JôXTö c÷OÌ^ç» LXaeFîç 10,500 c÷ã_ 2004 $JôXTö LXaeFîç ×Eõ]çX c÷[ý ?
mÌ̂ çc÷çOôÝÌ[ý LX aeFîç YÒ×Tö [ýK÷ã»Ì[ý VÇmX c÷Ì̂ * 2000  aãX TöçÌ[ý LXaeFîç 10,500 c÷+ã_ 2004 aãX EõTö c÷ã[ý ?
a) 42000 b) 21000 c) 84000     d)  None of these A$RôOçC Xc÷Ì̂  / AEõ×OôC Xç

87. The Highest common factor of 44121 and 132 is
4412 %ç»Ó 132 » Gfaçfmf c÷[ý :
4412 A[ýe 132 AÌ[ý Gfaçfmf c÷å[ý :
a) 11 b) 44 c) 22 d) 132

5 cm. (æ$K÷×
].) 6 cm. (æ$K÷×].)

4 cm. (æ$K÷×].)

8 cm. (æ$K÷×].)
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88. Which of the following represents all the different factors of 18 ?
Tö_» åEõçXä$RôOçã¾ 18 » %ç$RôOçc÷OåEõc÷O$RôOç QöOdYçVEõEõ [ýÇLçÌ̂  ?
XÝäJôÌ[ý åEõçX×OôÌ[ý a[ýmã_ç aeFîç 18 AÌ[ý =dYçVEõ ?
a) 1, 2, 3, 4, 9, 18     b) 1,  2, 3, 6, 9, 18    c)  1, 2, 4, 6, 9, 18      d)  None of these A$RôOçC Xc÷Ì̂  / AEõ×OôC Xç

89. Find the value of (3-0.05)
(3-0.05) » ]çX ×XSïÌ^ Eõ»ç :
(3-0.05) Ì[ý ]çX ×XSïÌ̂  EõÌ[ý :
a) 2.095 b) 2.95 c) 1.95 d) 3.05

90. The name of an angle that is less than 900 is
900 TöêEõ a»Ó åEõçS» Xç] :
900 åUãEõ æK÷çOô åEõçãXÌ[ý Xç] :
a) Obtuse (ØšöÉ_)   b)   Acute (aÉÿ¿)    c)    Right (a]ãEõçS)  d)  None of these A$RôOçC Xc÷Ì̂  / AEõ×OôC Xç

91. What will be the next term is the given pattern ?
Tö_Tö ×VÌ̂ ç æ`ÒSÝä$RôOçTö Y»¾wøÝÛ YVä$RôOç ×Eõ ?
É̀XîØšöçãX a×PöEõ =wøÌ[ý VçC :

185, 179, 173, 167 ............
a) 152 b) 155 c) 161 d) 162

92. 55 gm (GÐç.) = ................. kg (×Eõ.GÐç.)
a) 0.55 b) 0.055 c) 0.505 d) 505

93. Each letter U to Z stands for the digits 1 3 4 6 8 9 respectively the the value of ( Z x V)
U » Y» Z é_ YÒ×Töä$RôOç %çFã» ^×V yÔ]çXŸãÌ^ 1 3 4 6 8 9 %eEõ åEõc÷O$RôOç [ýLçÌ^* åTöãÜ™ö (Z x V) » ]çX c÷[ý*
U åUãEõ Z Y ï̂Ü™ö YÒ×Tö×Oô %lùÌ[ý ^×V yÔ]çXŸãÌ̂  1 3 4 6 8 9 aeFîçmã_çãEõ [ýÇMõçÌ̂ , Töçc÷ã_ (Z x V) Ì[ý ]çX ×Eõ ?
a) (W x X) + Y b) (W x W) + Z c) (W x X)+ V d) X x Y

94. Each part on the number line drawn below is 1 cm. The sum of AC + DE + GJ is equal to
Tö_Tö ×VÌ^ç aeFîç å»Fç» YÒ×Töä$RôOç %e` 1 æ$K÷.×]. c÷ã_ AC + DE + GJ » å^çGZõ_ c÷[ý*
XÝäJôÌ[ý aeFîç åÌ[ýFçÌ[ý YÒ×Tö×Oô %e` 1 åa.×]. c÷+ã_ AC + DE + GJ AÌ[ý å^çGZõ_ c÷ã[ý*

0 1 2 3 4 5 6 7 8 9

A B C D E F G H I J

a) AF b) BH c) DG d) FJ

95. The number which is divisible by 3 but not 9 is :
3 å» ×[ý\öçLî ×EõÜ™Çö 9 å» ×[ý\öçLî åXçãc÷ç¾ç aeFîçä$RôOç :
å^ aeFîçãEõ 3 ×VãÌ̂  \öçG EõÌ[ýç ̂ çÌ̂  ×EõÜ™Çö 9 ×VãÌ^ XÌ^ô :
a) 126 b) 99 c) 57 d) 45
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96 The monthly income of an employee is Rs. 7500. He spent G of that. How much did he save ?
ALX Eõ]ï$Jôç»Ý» ]ç×c÷×_ %çÌ̂  7500 RôOEõç* ×a Töç» G %e` F»$K÷ Eõ×»ã_ ×Eõ]çX $RôOEõç »ç×c÷ c÷[ý ?
AEõLX Eõ]ïJôç»Ì[ýÝÌ[ý ]ç×aEõ %çÌ̂  7500 OôçEõç* åa TöçÌ[ý G %e` FÌ[ýJô EõÌ[ýã_ EõTö OôçEõç L]çãTö YçÌ[ýå[ý ?
a) 2600 b) 3900 c) 4500 d) 1600

97. In proper fractions the numerator is always .......... the denominator
YÒEÊõTö \öGÂçe`» _¾ä$RôOç aVçÌ^ c÷» ..............
YÒEÊõTö \öGÂçeã Ì̀[ý _[ý×Oô aVçÌ̂  c÷Ì[ý ................
a) Less than (TöêEõ a»Ó / åUãEõ æ$K÷ç$RôO) b) greater than (TöêEõ QöçIø» / åUãEõ [ýQÍö)
c) Equal to (a]çX) d)  None of these A$RôOçC Xc÷Ì^ / AEõ×OôC Xç

98. If 3 quintal rice costs Rs. 1800, then the cost of 25 kg of rice
^×V 3 EÇõc÷O³RôO_ $JôçQöO_» Vç] 1800 RôOEõç c÷ã_, 25 ×Eõ.GÐç. $JôçQöO_» Vç] c÷[ý :
^×V 3 EÇõ+³Oôç_ Jôç=å_Ì[ý Vç] 1800 OôçEõç c÷Ì̂ , Töã[ý 25 ×Eõ.×GÐ. Jôç=å_Ì[ý Vç] c÷ã[ý :
a) 150 b) 450 c) 600 d) 350

99. 3569 - 2689 + 9325 =
a) 10205 b) 880 c) 12894      d)  None of these A$RôOçC Xc÷Ì̂  / AEõ×OôC Xç

100.The value of (1000 - 998) x (1000+ 998 ) is
(1000 - 998) x (1000+ 998 ) » ]çX c÷[ý :
(1000 - 998) x (1000+ 998 ) AÌ[ý ]çX c÷ã[ýô :
a) 1998 b) 3996 c) 2886        d)  None of these A$RôOçC Xc÷Ì̂  / AEõ×OôC Xç

********
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